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MT:METALLURGICAL ENGINEERING 
 
Duration: Τηρεε Ηουρσ        Maximum Marks:100 

 

Πλεασε ρεαδ τηε φολλοωινγ ινστρυχτιονσ χαρεφυλλψ: 

 

General Instructions: 

 

1. Τοταλ δυρατιον οφ εξαmινατιον ισ 180 mινυτεσ (3 ηουρσ).  

 

2. Τηε χλοχκ ωιλλ βε σετ ατ τηε σερϖερ.  Τηε χουντδοων τιmερ ιν τηε τοπ ριγητ χορνερ οφ σχρεεν ωιλλ δισπλαψ 

τηε ρεmαινινγ τιmε αϖαιλαβλε φορ ψου το χοmπλετε τηε εξαmινατιον. Wηεν τηε τιmερ ρεαχηεσ ζερο, τηε 

εξαmινατιον ωιλλ ενδ βψ ιτσελφ. Ψου ωιλλ νοτ βε ρεθυιρεδ το ενδ ορ συβmιτ ψουρ εξαmινατιον.  

 

3. Τηε Θυεστιον Παλεττε δισπλαψεδ ον τηε ριγητ σιδε οφ σχρεεν ωιλλ σηοω τηε στατυσ οφ εαχη θυεστιον υσινγ 

ονε οφ τηε φολλοωινγ σψmβολσ:  

  

 
Ψου ηαϖε νοτ ϖισιτεδ τηε θυεστιον ψετ. 

 
Ψου ηαϖε νοτ ανσωερεδ τηε θυεστιον. 

 
Ψου ηαϖε ανσωερεδ τηε θυεστιον.  

 

Ψου ηαϖε ΝΟΤ ανσωερεδ τηε θυεστιον, βυτ ηαϖε mαρκεδ τηε 

θυεστιον φορ ρεϖιεω. 

 

Ψου ηαϖε ανσωερεδ τηε θυεστιον, βυτ mαρκεδ ιτ φορ ρεϖιεω.  

 

Τηε Μαρκεδ φορ Ρεϖιεω στατυσ φορ α θυεστιον σιmπλψ ινδιχατεσ τηατ ψου ωουλδ λικε το λοοκ ατ τηατ 

θυεστιον αγαιν. Ιφ α θυεστιον ισ ανσωερεδ ανδ  Μαρκεδ φορ Ρεϖιεω, ψουρ ανσωερ φορ τηατ θυεστιον 

ωιλλ βε χονσιδερεδ ιν τηε εϖαλυατιον. 

 

Navigating to a Question 

 

4. Το ανσωερ α θυεστιον, δο τηε φολλοωινγ: 

 

α. Χλιχκ ον τηε θυεστιον νυmβερ ιν τηε Θυεστιον Παλεττε το γο το τηατ θυεστιον διρεχτλψ.  

β. Σελεχτ αν ανσωερ φορ α mυλτιπλε χηοιχε τψπε θυεστιον. Υσε τηε ϖιρτυαλ νυmεριχ κεψπαδ το εντερ 

α νυmβερ ασ ανσωερ φορ α νυmεριχαλ τψπε θυεστιον.  

χ. Χλιχκ ον Save and Next το σαϖε ψουρ ανσωερ φορ τηε χυρρεντ θυεστιον ανδ τηεν γο το τηε νεξτ 

θυεστιον.  

δ. Χλιχκ ον Mark for Review and Next το σαϖε ψουρ ανσωερ φορ τηε  χυρρεντ θυεστιον, mαρκ ιτ 

φορ ρεϖιεω, ανδ τηεν γο το τηε νεξτ θυεστιον. 

e. Caution: Note that your answer for the current question will not be saved, if you 

navigate to another question directly by clicking on its question number.  

 

5. Ψου χαν ϖιεω αλλ τηε θυεστιονσ βψ χλιχκινγ ον τηε Question Paper βυττον. Νοτε τηατ τηε οπτιονσ φορ 

mυλτιπλε χηοιχε τψπε θυεστιονσ ωιλλ νοτ βε σηοων.  

 

  



w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

2013                                                                                                                                                                ΜΕΤΑΛΛΥΡΓΙΧΑΛ ΕΝΓΙΝΕΕΡΙΝΓ  �  ΜΤ 

ΜΤ 2/12

Answering a Question 

 

6. Προχεδυρε φορ ανσωερινγ α mυλτιπλε χηοιχε τψπε θυεστιον: 

α. Το σελεχτ ψουρ ανσωερ, χλιχκ ον τηε βυττον οφ ονε οφ  τηε οπτιονσ 

β. Το δεσελεχτ ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ τηε χηοσεν οπτιον αγαιν ορ χλιχκ ον τηε 

Clear Response βυττον  

χ. Το χηανγε ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ  ανοτηερ οπτιον 

δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 

ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ σελεχτεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 

 

7. Προχεδυρε φορ ανσωερινγ α νυmεριχαλ ανσωερ τψπε θυεστιον: 

α. Το εντερ α νυmβερ ασ ψουρ ανσωερ, υσε τηε ϖιρτυαλ νυmεριχαλ κεψπαδ 

β. Α φραχτιον (εγ.,−0.3 ορ −.3) χαν βε εντερεδ ασ αν ανσωερ ωιτη ορ ωιτηουτ �0� βεφορε τηε δεχιmαλ 

ποιντ 

χ. Το χλεαρ ψουρ ανσωερ, χλιχκ ον τηε Clear Response βυττον 

δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 

ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ εντερεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 

 

8. Το χηανγε ψουρ ανσωερ το α θυεστιον τηατ ηασ αλρεαδψ βεεν ανσωερεδ, φιρστ σελεχτ τηατ θυεστιον φορ 

ανσωερινγ ανδ τηεν φολλοω τηε προχεδυρε φορ ανσωερινγ τηατ τψπε οφ θυεστιον.  

 

9. Νοτε τηατ ΟΝΛΨ Θυεστιονσ φορ ωηιχη ανσωερσ  αρε σαϖεδ ορ mαρκεδ φορ ρεϖιεω αφτερ ανσωερινγ ωιλλ βε 

χονσιδερεδ φορ εϖαλυατιον. 
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Paper specific instructions: 

 

 

1. Τηερε αρε α τοταλ οφ 65 θυεστιονσ χαρρψινγ 100 mαρκσ. Θυεστιονσ αρε οφ mυλτιπλε χηοιχε τψπε ορ 

νυmεριχαλ ανσωερ τψπε. Α mυλτιπλε χηοιχε τψπε θυεστιον ωιλλ ηαϖε φουρ χηοιχεσ φορ τηε ανσωερ ωιτη 

ονλψ one χορρεχτ χηοιχε. Φορ νυmεριχαλ ανσωερ τψπε θυεστιονσ, τηε ανσωερ ισ α νυmβερ ανδ νο χηοιχεσ 

ωιλλ βε γιϖεν. A number as the answer should be entered υσινγ τηε ϖιρτυαλ κεψβοαρδ ον τηε mονιτορ. 
 

2. Θυεστιονσ Θ.1 � Θ.25 χαρρψ 1mαρκ εαχη. Θυεστιονσ Θ.26 � Θ.55 χαρρψ 2mαρκσ εαχη. Τηε 2mαρκσ 

θυεστιονσ ινχλυδε τωο παιρσ οφ χοmmον δατα θυεστιονσ ανδ τωο παιρσ οφ λινκεδ ανσωερ θυεστιονσ. Τηε 

ανσωερ το τηε σεχονδ θυεστιον οφ τηε λινκεδ ανσωερ θυεστιονσ δεπενδσ ον τηε ανσωερ το τηε φιρστ 

θυεστιον οφ τηε παιρ. Ιφ τηε φιρστ θυεστιον ιν τηε λινκεδ παιρ ισ ωρονγλψ ανσωερεδ ορ ισ νοτ αττεmπτεδ, 

τηεν τηε ανσωερ το τηε σεχονδ θυεστιον ιν τηε παιρ ωιλλ νοτ βε εϖαλυατεδ. 
 

3. Θυεστιονσ Θ.56 � Θ.65 βελονγ το Γενεραλ Απτιτυδε (ΓΑ) σεχτιον ανδ χαρρψ α τοταλ οφ 15 mαρκσ. 

Θυεστιονσ Θ.56 � Θ.60 χαρρψ 1mαρκ εαχη, ανδ θυεστιονσ Θ.61 � Θ.65 χαρρψ 2mαρκσ εαχη.   

 

4. Θυεστιονσ νοτ αττεmπτεδ ωιλλ ρεσυλτ ιν ζερο mαρκ. Wρονγ ανσωερσ φορ mυλτιπλε χηοιχε τψπε θυεστιονσ 

ωιλλ ρεσυλτ ιν NEGATIVE mαρκσ.  Φορ αλλ 1 mαρκ θυεστιονσ, Å mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ 

ανσωερ. Φορ αλλ 2 mαρκσ θυεστιονσ, ‰ mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ ανσωερ.  Ηοωεϖερ, ιν τηε 

χασε οφ τηε λινκεδ ανσωερ θυεστιον παιρ, τηερε ωιλλ βε νεγατιϖε mαρκσ ονλψ φορ ωρονγ ανσωερ το τηε 

φιρστ θυεστιον ανδ νο νεγατιϖε mαρκσ φορ ωρονγ ανσωερ το τηε σεχονδ θυεστιον. Τηερε ισ νο νεγατιϖε 

mαρκινγ φορ θυεστιονσ οφ νυmεριχαλ ανσωερ τψπε. 

 

5. Χαλχυλατορ ισ αλλοωεδ. Χηαρτσ, γραπη σηεετσ ορ ταβλεσ αρε NOT αλλοωεδ ιν τηε εξαmινατιον ηαλλ.  

 

6. Dο τηε ρουγη ωορκ ιν τηε Σχριββλε Παδ προϖιδεδ. 
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USEFUL DATA 

Υνιϖερσαλ γασ χονσταντ, R: 8.314 ϑ/mολ/Κ 

Αχχελερατιον δυε το γραϖιτψ, g: 9.81 m/σ2 

Φαραδαψ χονσταντ, F: 96500 Χ/mολ 

Βοηρ mαγνετον, Β: 9.273  10 24 Αm2 

 

Q. 1 – Q. 25 carry one mark each. 

 

Θ.1 Dεγρεε ανδ ορδερ οφ τηε διφφερεντιαλ εθυατιον 
ௗమ௬ௗ௫మ ൅ ͵ ௗ௬ௗ௫ െ ͸ݕ ൌ Ͳ, ρεσπεχτιϖελψ, αρε 

 

(Α) 1 ανδ 2 (Β) 2 ανδ 1  (Χ)  1 ανδ 1 (D)  2 ανδ 2 

 

 

Θ.2 Ασ τηε χονχεντρατιον οφ ποιντ δεφεχτσ ιν α χρψσταλ ινχρεασεσ, ιτσ χονφιγυρατιοναλ εντροπψ 

(Α) δοεσ νοτ χηανγε (Β) δεχρεασεσ 

(Χ) ινχρεασεσ (D) ινιτιαλλψ ινχρεασεσ ανδ τηεν δεχρεασεσ 

 

 

Θ.3 Ιν α βιναρψ σψστεm Α−Β, ΑΑ, ΒΒ ανδ ΑΒ χορρεσπονδ το Α−Α, Β−Β ανδ Α−Β βονδ ενεργιεσ 

ρεσπεχτιϖελψ. Τηε mισχιβιλιτψ γαπ ωιλλ οχχυρ ιφ 

(Α) ΑΒ >  (ΑΑ + ΒΒ) (Β) ΑΒ <  (ΑΑ + ΒΒ) 

(Χ) ΑΒ =  (ΑΑ + ΒΒ) (D) ΑΒ < … (ΑΑ + ΒΒ)  

 

Θ.4 Χριτιχαλ ϖαλυε οφ τηε Γιββσ ενεργψ οφ νυχλεατιον  ατ εθυιλιβριυm τεmπερατυρε ισ 

(Α) ζερο  (Β) ινφινιτε (Χ)  ποσιτιϖε (D)  νεγατιϖε 

 

Θ.5 Wιτη ρεσπεχτ το τηε mατριξ οφ Αλ−Χυ αλλοψσ, Γ−Π ζονεσ αρε 

(Α) χοηερεντ (Β) ινχοηερεντ 

(Χ) σεmι−χοηερεντ (D) χηεmιχαλλψ ινδιστινγυισηαβλε 

 

Θ.6 Wηιχη ονε οφ τηε φολλοωινγ τεχηνιθυεσ δοεσ NOT ρεθυιρε θυενχηινγ το οβταιν φιναλ χασε ηαρδνεσσ? 

(Α) Φλαmε ηαρδενινγ (Β) Ινδυχτιον ηαρδενινγ 

(Χ) Νιτριδινγ (D) Χαρβυριζινγ 

 

Θ.7 Wηιχη ονε οφ τηε φολλοωινγ ελεmεντσ ισ αν αυστενιτε σταβιλιζερ? 

(Α) Νιτρογεν (Β) Μολψβδενυm 

(Χ) ςαναδιυm (D) Τυνγστεν 

 

Θ.8 Α 0.2 ωτ.% πλαιν χαρβον στεελ σηεετ ισ ηεατεδ ανδ εθυιλιβρατεδ ιν τηε ιντερ−χριτιχαλ ρεγιον φολλοωεδ 

βψ ινσταντ ωατερ θυενχηινγ. Τηε mιχροστρυχτυρε οφ τηε θυενχηεδ στεελ σηεετ χονσιστσ οφ 

(Α) φυλλψ mαρτενσιτε (Β) προευτεχτοιδ φερριτε + mαρτενσιτε 

(Χ) mαρτενσιτε + πεαρλιτε (D) mαρτενσιτε + αυστενιτε 

 

Θ.9 Ασ χοmπαρεδ το τηε ενγινεερινγ στρεσσ−ενγινεερινγ στραιν χυρϖε, τηε τρυε στρεσσ−τρυε στραιν χυρϖε φορ 

α γιϖεν mατεριαλ 

(Α) λιεσ αβοϖε ανδ το τηε λεφτ 

(Β) λιεσ βελοω ανδ το τηε ριγητ 

(Χ) χροσσεσ τηε ενγινεερινγ στρεσσ−ενγινεερινγ στραιν χυρϖε 

(D) ισ ιδεντιχαλ 
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Θ.10 Wηιχη ονε οφ τηε φολλοωινγ δοεσ NOT ιmπροϖε φατιγυε λιφε οφ α στεελ χοmπονεντ? 

(Α) Νιτριδινγ (Β) Dεχαρβυριζατιον 

(Χ) Ιmπροϖινγ συρφαχε φινιση (D) Σηοτ−πεενινγ 

 

Θ.11 Wηεν τωο πηασεσ g ανδ く ιν αν αλλοψ αρε ιν τηερmοδψναmιχ εθυιλιβριυm, τηεν   

(Α) p p
c c
   (Β) m mV V

   (Χ) m mG G
   (D) i iG G

 
  

 

Θ.12 Ισοτηερmαλ χοmπρεσσιβιλιτψ οφ α mατεριαλ ισ γιϖεν βψ 

(Α) 
1

T

V

p p

 
   

 (Β) 
1

T

V

p p

 
  

 

(Χ) 
1

T

V

V p

 
   

 (D) 
1

T

V

V p

 
  

 

 

Θ.13 Ιν τηε Ελλινγηαm διαγραm φορ οξιδεσ, Χ−ΧΟ λινε χυτσ τηε Μ−ΜΟ λινε ατ τεmπερατυρε T1 ανδ τηε  

Μガ−ΜガΟ λινε ατ α ηιγηερ τεmπερατυρε T2.  Ατ α τεmπερατυρε γρεατερ τηαν T1 ανδ λεσσ τηαν T2, χαρβον 

χαν ρεδυχε  

(Α) ΜΟ (Β) βοτη ΜΟ ανδ ΜガΟ 

(Χ) ΜガΟ (D) νειτηερ ΜΟ νορ ΜガΟ  

 

Θ.14 Wηιχη ονε οφ τηε φολλοωινγ χαν γιϖε ινφορmατιον αβουτ τηε χορροσιον ρατε? 

(Α) Πουρβαιξ διαγραm (Β) Πολαριζατιον τεχηνιθυε 

(Χ) ΕΜΦ σεριεσ  (D) Γαλϖανιχ σεριεσ 

 

Θ.15 Ιν α ροαστινγ προχεσσ, τηε σετ οφ χονδιτιονσ τηατ φαϖουρ συλπηατε φορmατιον φροm mεταλ συλπηιδε 

χονχεντρατεσ αρε 

 

            Π. ηιγη τεmπερατυρε 

 Θ. ηιγη παρτιαλ πρεσσυρε οφ οξψγεν  

 Ρ. υσε οφ εξχεσσ αιρ  

 Σ. ηιγη παρτιαλ πρεσσυρε οφ ΣΟ3  

(Α) Π, Ρ ανδ Σ (Β) Π, Θ ανδ Ρ 

(Χ) Θ ανδ Σ (D) Ρ ανδ Σ 

 

Θ.16 Ηιγη τοπ πρεσσυρε ιν α βλαστ φυρναχε οπερατιον 

(Α) φαϖουρσ τηε σολυτιον−λοσσ ρεαχτιον 

(Β) συππρεσσεσ τηε σολυτιον−λοσσ ρεαχτιον 

(Χ) δεχρεασεσ γασ−σολιδ χονταχτ τιmε 

(D) ινχρεασεσ χοκε ρατε  

 

Θ.17 Ιν Λ−D στεελmακινγ, τηε φιναλ σλαγ χαν βε βεστ δεσχριβεδ ασ 

(Α) οξιδιζινγ (Β) βασιχ 

(Χ) οξιδιζινγ ανδ βασιχ (D) ρεδυχινγ ανδ βασιχ 

 

Θ.18 Τηε περmεαβιλιτψ οφ βυρδεν ιν αν ιρονmακινγ βλαστ φυρναχε χαν βε ιmπροϖεδ βψ υσινγ 

(Α) φινε χηαργε 

(Β) αγγλοmερατεδ χηαργε 

(Χ) οξψγεν ενριχηεδ αιρ βλαστ 

(D) πυλϖεριζεδ χοαλ ινϕεχτιον τηρουγη τηε τυψερεσ 
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Θ.19 Φορ α γοοδ θυαλιτψ βραζινγ, τηε mολτεν φιλλερ αλλοψ σηουλδ ηαϖε 

(Α) λοω χονταχτ ανγλε ωιτη τηε βασε mεταλ (Β) λοω δενσιτψ 

(Χ) ηιγη συρφαχε τενσιον (D) ηιγη ϖισχοσιτψ 

 

Θ.20 Ρισερσ αρε NOT ρεθυιρεδ φορ χαστινγ 

(Α) σταινλεσσ στεελ (Β) πλαιν χαρβον στεελ 

(Χ) γρεψ χαστ ιρον (D) ωηιτε χαστ ιρον 

 

Θ.21 Φορ σχαλαρ φιελδσ  ανδ , τηε ϖαλυε οφ () ισ ______

 

Θ.22 Τηε ατοmιχ παχκινγ φραχτιον οφ διαmονδ χυβιχ στρυχτυρε ισ __________ 

 

Θ.23 Τηε τοταλ νυmβερ οφ ποσσιβλε ηεατ τρανσφερ mοδε(σ) ισ __________ 

 

Θ.24 Ιφ  ανδ  αρε τρυε στρεσσ ανδ τρυε στραιν, ρεσπεχτιϖελψ, τηε mαξιmυm τρυε υνιφορm στραιν τηατ χαν βε 

ιmπαρτεδ το α mατεριαλ οβεψινγ  = 10500.25 ισ _________ 

 

Θ.25 Αρχ ωελδινγ ισ δονε υσινγ χυρρεντ, ϖολταγε ανδ ωελδινγ σπεεδ οφ 200 Α, 20 ς ανδ 0.01 m/σ, 

ρεσπεχτιϖελψ. Τηε ηεατ ινπυτ ιν κϑ περ υνιτ λενγτη ισ _________ 

 

Q. 26 to Q. 55 carry two marks each. 

Θ.26 Wηιχη ονε οφ τηε φολλοωινγ σεριεσ ισ διϖεργεντ? 

(Α) 
1

1

1

3n
n





  (Β) 

1

1

n n




  (Χ) 

0

1

2n
n




  (D) 

1

1
n

n n




  

 

Θ.27 Ταψλορ σεριεσ εξπανσιον οφ τηε φυνχτιον ݂ሺݔሻ ൌ ௫ଵା௫ αρουνδ x = 0 ωιλλ βε 

(Α) ͳ ൅ ݔ ൅ ଶݔ ൅ ଷݔ ൅ ͳ (Β) ڮ െ ݔ ൅ ଶݔ െ ଷݔ ൅  ڮ

(Χ) Ͳ ൅ ݔ ൅ ௫మଶ ൅ ௫యଷ ൅ Ͳ (D) ڮ ൅ ݔ െ ଶݔ ൅ ଷݔ െ  ڮ

 

Θ.28 Wηιχη ονε οφ τηε φολλοωινγ αττριβυτεσ ισ NOT χορρεχτ φορ τηε mατριξ? 

 

χοσ σιν 0

σιν χοσ 0

0 0 1

   
   
  

, ωηερε  = 60°  

(Α) ορτηογοναλ (Β) σινγυλαρ 

(Χ) σκεω−σψmmετριχ (D) ποσιτιϖε−δεφινιτε 

 

Θ.29 Α υνιτ χελλ οφ αν ελεmεντ ηασ mαξιmυm λινεαρ δενσιτψ αλονγ τηε [110] διρεχτιον.  Τηε παχκινγ 

δενσιτψ οφ ιτσ (100) πλανε ισ  

(Α) 0.68 (Β) 0.74 (Χ) 0.79 (D) 0.91 

 

Θ.30 Φορ αν ΦΧΧ mεταλ, τηε ρατιο οφ ιντερπλαναρ σπαχινγ οβταινεδ φροm τηε φιρστ τωο πεακσ οφ τηε Ξ−ραψ 

διφφραχτιον παττερν ισ 

(Α) 1.91 (Β) 1.63 (Χ) 1.41 (D) 1.15 
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Θ.31 Τηερε αρε 150 γεαρωηεελσ ιν α βοξ, ουτ οφ ωηιχη 112 αρε ωιτηιν τηε ρεθυιρεδ τολερανχε, 21 αρε βελοω 

ανδ ρεστ αρε αβοϖε τηε ρεθυιρεδ τολερανχε.  Ιφ τηε σελεχτιον ισ δονε ωιτηουτ ρεπλαχεmεντ, τηε 

χοmβινεδ προβαβιλιτψ οφ ρανδοmλψ σελεχτινγ α γεαρωηεελ βελοω τηε τολερανχε ανδ τηεν α σεχονδ ονε 

αβοϖε τηε τολερανχε ισ 

(Α) 0.016 (Β) 0.032 (Χ) 0.492 (D) 0.984 

 

  

Θ.32 Ματχη τηε mεταλ ιν Group I ωιτη ιτσ χορρεσπονδινγ ορε ιν Group II 

 

Group I      Group II 

           (Π)   Νι  (1)  Μοναζιτε 

           (Θ)  Τη  (2)  Χασσιτεριτε 

           (Ρ)  Πβ  (3)  Πενλανδιτε 

           (Σ)  Σν  (4)  Γαλενα 

 

            (Α) Π−1, Θ−3, Ρ−4, Σ−2 

            (Β) Π−4, Θ−2, Ρ−3, Σ−1 

            (Χ) Π−3, Θ−1, Ρ−4, Σ−2 

            (D) Π−2, Θ−3, Ρ−1, Σ−4 

 

Θ.33 Τηε ψιελδ στρενγτη οφ α πολψχρψσταλλινε mεταλ ινχρεασεσ φροm 100 ΜΠα το 145 ΜΠα ον δεχρεασινγ τηε 

γραιν σιζε φροm 64 ∝m το 25 ∝m.  Τηε ψιελδ στρενγτη οφ τηισ mεταλ (ιν ΜΠα) ηαϖινγ α γραιν σιζε οφ 36 

∝m ισ 

(Α) 110 (Β) 125 (Χ) 140 (D) 165 

 

Θ.34 Ιν α βριττλε mατεριαλ, τηε mαξιmυm ιντερναλ χραχκ λενγτη ισ 8 ∝m.  Ιφ Ψουνγ�σ mοδυλυσ ισ 400 ΓΠα 

ανδ συρφαχε ενεργψ ισ 3.14 ϑ/m2, τηε εστιmατεδ τηεορετιχαλ φραχτυρε στρενγτη (ιν ΜΠα) ισ 

(Α) 375 (Β) 412 (Χ) 327 (D) 447 

 

Θ.35 Σατυρατιον mαγνετιζατιον οφ αν ΦΧΧ mεταλ ωιτη λαττιχε παραmετερ 0.2 νm ισ 600 κΑ/m. Τηε νετ 

mαγνετιχ mοmεντ περ ατοm ισ γιϖεν βψ (ιν Βοηρ mαγνετον) 

(Α) 8.08  1057 (Β) 2.02  1057 (Χ) 0.517  (D) 0.129 

 

Θ.36 Α 480 mm τηιχκ σλαβ ισ ηοτ−ρολλεδ υσινγ α ρολλ οφ 720 mm διαmετερ. Φορ α χοεφφιχιεντ οφ φριχτιον οφ 

0.5, τηε mαξιmυm ποσσιβλε ρεδυχτιον (ιν mm) ισ 

(Α) 90 (Β) 180 (Χ) 240 (D) 360 

 

Θ.37 Ματχη τηε δεφεχτσ λιστεδ ιν Group I ωιτη τηε χορρεσπονδινγ mανυφαχτυρινγ προχεσσ λιστεδ ιν  

Group II 

 

Group I       Group II 

(Π) Ορανγε−πεελ εφφεχτ  (1) Εξτρυσιον 

(Θ) Χηεϖρον χραχκινγ  (2) Dεεπ δραωινγ 

(Ρ) Φλαση   (3) Αρχ ωελδινγ 

(Σ) Υνδερχυτ   (4) Φοργινγ 

 

(Α) Π−1, Θ−2, Ρ−4, Σ−3 

(Β) Π−2, Θ−3, Ρ−1, Σ−4 

(Χ) Π−3, Θ−4, Ρ−2, Σ−1 

(D) Π−2, Θ−1, Ρ−4, Σ−3 
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Θ.38 Ματχη τηε ποωδερ προδυχτιον τεχηνιθυε γιϖεν ιν Group I ωιτη τηε χορρεσπονδινγ σηαπε λιστεδ ιν 

Group II 

Group I      Group II 

(Π) Ρεδυχτιον                         (1) Φλακψ 

(Θ) Γασ Ατοmιζατιον              (2) Σπονγψ 

(Ρ) Μιλλινγ               (3) Dενδριτιχ 

(Σ) Ελεχτρολψσισ               (4) Σπηεριχαλ 

(Α) Π−2, Θ−4, Ρ−1, Σ−3 

(Β) Π−1, Θ−3, Ρ−2, Σ−4 

(Χ) Π−2, Θ−3, Ρ−4, Σ−1 

(D) Π−3, Θ−2, Ρ−1, Σ−4 

 

Θ.39 Ματχη τηε συιταβιλιτψ οφ νον−δεστρυχτιϖε τεστινγ mετηοδ ιν Group I φορ τηε δετεχτιον οφ δεφεχτσ 

λιστεδ ιν Group II 

 

Group I   Group II 

(Π) Μαγνετιχ παρτιχλε ινσπεχτιον        (1) Συρφαχε χραχκ ιν mαρτενσιτιχ σταινλεσσ στεελσ 

(Θ) Ξ−ραψ ραδιογραπηψ         (2) Συρφαχε χραχκ ιν αυστενιτιχ σταινλεσσ στεελσ 

(Ρ) Dψε πενετραντ τεστ         (3) Ηαιρλινε χραχκ ιν αλυmινιυm 

(Σ) Υλτρασονιχ τεστινγ         (4) Ινχλυσιονσ ιν στεελσ 

(Α) Π−2, Θ−4, Ρ−3, Σ−1 

(Β) Π−4, Θ−2, Ρ−1, Σ−3 

(Χ) Π−3, Θ−1, Ρ−2, Σ−4 

(D) Π−1, Θ−4, Ρ−2, Σ−3 

 

Θ.40 Φορ τηε φολλοωινγ ελεχτροχηεmιχαλ ρεαχτιον Σν + 2Η+ = Σν2+ + Η2, ιφ τηε σολυτιον ηασ Σν2+ 

χονχεντρατιον 102 Μ ανδ πΗ 5 ατ 298 Κ, ωηιχη οφ τηε φολλοωινγ ισ τρυε?  

Γιϖεν: στανδαρδ ρεδυχτιον ποτεντιαλ φορ Σν2+ + 2ε  Σν ισ 0.136 ς versus ΣΗΕ; 
2H

p = 1 ατm 

(Α) Σν υνδεργοεσ οξιδατιον (Β) Η+ υνδεργοεσ ρεδυχτιον 

(Χ) Σν
2+

 υνδεργοεσ ρεδυχτιον (D) Νο νετ ρεαχτιον 

 

Θ.41 Ματχη τηε υνιτ οπερατιον ιν Group I ωιτη ιτσ χορρεσπονδινγ πρινχιπλε ιν Group II: 

 

Group I   Group II 

(Π) ϑιγγινγ   (1) Μοδιφιχατιον οφ συρφαχε τενσιον 

(Θ) Ταβλινγ   (2) Dιφφερενχε ιν δενσιτψ 

(Ρ) Ηεαϖψ mεδια σεπαρατιον (3) Dιφφερεντιαλ ινιτιαλ αχχελερατιον 

(Σ) Φλοτατιον   (4) Dιφφερεντιαλ λατεραλ mοϖεmεντ 

(Α) Π−3, Θ−4, Ρ−2, Σ−1 

(Β) Π−2, Θ−3, Ρ−1, Σ−4 

(Χ) Π−4, Θ−2, Ρ−3, Σ−1 

(D) Π−1, Θ−3, Ρ−2, Σ−4 

 

Θ.42 Dετερmινε τηε χορρεχτνεσσ ορ οτηερωισε οφ τηε φολλοωινγ Assertion (a) ανδ Reason (r). 

 

Assertion: Φορ τηε εξτραχτιον οφ mεταλ ϖαλυεσ φροm τηειρ συλπηιδε χονχεντρατεσ βψ 

ηψδροmεταλλυργιχαλ ρουτε, λεαχηινγ ωιτη οξψγεν υνδερ ηιγη πρεσσυρε ισ υσεδ. 

Reason:  Πρεσενχε οφ οξψγεν υνδερ ηιγη πρεσσυρε χαυσεσ ροαστινγ οφ συλπηιδεσ, ωηιχη ηελπσ ιν 

λεαχηινγ οφ τηε ϖαλυεσ. 

(Α) a ισ τρυε βυτ r ισ φαλσε 

(Β) a ισ φαλσε βυτ r ισ τρυε 

(Χ) βοτη a ανδ r αρε τρυε, ανδ r ισ τηε ρεασον φορ a 

(D) βοτη a ανδ r αρε τρυε, βυτ r ισ νοτ τηε ρεασον φορ a 
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Θ.43 Τηε απερτυρε σιζε (ιν m) οφ α 200 mεση σιεϖε ηαϖινγ α ωιρε διαmετερ οφ 53 ∝m ισ __________ 

 

Θ.44 Φροm α 2 m ⋅ 1.2 m σηεετ, σθυαρεσ αρε χυτ ουτ φροm εαχη οφ τηε φουρ χορνερσ ασ σηοων ιν τηε φιγυρε 

ανδ τηεν τηε σιδεσ αρε βεντ το φορm αν οπεν βοξ. Τηε mαξιmυm ποσσιβλε ϖολυmε (ιν m3) οφ τηε βοξ 

ισ __________ 

Θ.45 Αππλψινγ τηε σεχαντ mετηοδ, τηε φιρστ αππροξιmατιον το τηε ροοτ οφ ݂ሺݔሻ ൌ ͳ ൅ ln ݔ ൅ 	 ௫ଶ, σταρτινγ 

ωιτη φυνχτιον ϖαλυεσ ατ x = 0.3 ανδ x = 0.4, ισ_______ 

 

Θ.46 Τηε χριτιχαλ ιντερναλ χραχκ λενγτη (ιν mm) ιν α στεελ ηαϖινγ  KIc  οφ 45 ΜΠαξm το συππορτ α Μοδε−Ι 

στρεσσ οφ 400 ΜΠα ισ __________ 

 

Θ.47 Λαδλε δεοξιδατιον οφ λιθυιδ στεελ ισ δονε ατ 1600°Χ βψ αδδινγ φερρο−αλυmινιυm. Βψ ασσυmινγ 

Στοκεσ λαω βεηαϖιουρ, τιmε (ιν σ) ρεθυιρεδ φορ αλυmινα παρτιχλεσ οφ 50 m διαmετερ το φλοατ το τηε 

συρφαχε φροm α δεπτη οφ 2 m ωουλδ βε__________ 

 

[Γιϖεν: δενσιτψ οφ στεελ = 7000 κγ/m3, δενσιτψ οφ αλυmινα = 3650 κγ/m3,  

ϖισχοσιτψ οφ στεελ = 6103 κγ/m/σ] 

 

Common Data Questions 

Common Data for Questions 48 and 49:   

 

Α στεελ σπεχιmεν χονταινινγ 0.2 ωτ.% Χ ισ χαρβυριζεδ ιν αν ατmοσπηερε τηατ mαινταινσ α χαρβον χοντεντ οφ 

1.2 ωτ.% Χ ατ τηε συρφαχε οφ τηε σπεχιmεν. 

 

Γιϖεν: 

Φορ χαρβον διφφυσιον ιν αυστενιτε: D0=2.0⋅10
5

 m
2
/σ 

Αχτιϖατιον ενεργψ φορ διφφυσιον, Q=142 κϑ/mολ 

 

y ερφ(y)

0.85 0.7707

0.90 0.7970 

0.95 0.8209 
 

Θ.48 Wηατ ισ τηε δεπτη (ιν m) φροm τηε συρφαχε οφ τηε σπεχιmεν ατ ωηιχη α χοmποσιτιον οφ 0.4 ωτ.% Χ ισ 

οβταινεδ αφτερ χαρβυριζινγ ατ 870°Χ φορ 10 η? 

 

(Α) 15 (Β) 84 (Χ) 113 (D) 875 

 

Θ.49 Ηοω λονγ (ιν η) ωιλλ ιτ τακε το δουβλε τηε δεπτη ατ ωηιχη 0.4 ωτ.% Χ ισ ρεαχηεδ? 

             (Α) 40             (Β) 20             (Χ) 18              (D) 14 
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Common Data for Questions 50 and 51:   

 

Ιντεγραλ εντηαλπψ οφ mιξινγ (ιν ϑ/mολ) οφ λιθυιδ (Χυ, Ζν) σολυτιον χαν βε αππροξιmατεδ βψ  
mιξ

mH = 19250xΧυxΖν  

 

Θ.50 Τηε χορρεσπονδινγ παρτιαλ mολαρ εντηαλπψ οφ mιξινγ (ιν ϑ/mολ) φορ Χυ ισ 

 

(Α)   19250ݔ୞୬ଶ  

(Β) 19250ݔେ୳ଶ  

(Χ)   38500xΖν19250ݔ୞୬ଶ 19250 

(D) 19250ݔ୞୬ଶ  

 

Θ.51 Ασσυmινγ ρεγυλαρ σολυτιον βεηαϖιουρ, τηε σολυτιον παραmετερ (ιν ϑ/mολ) ισ 

(Α) 19250 (Β) 9625 (Χ) 13.75 (D) 2315.4  

 

Linked Answer Questions 

Statement for Linked Answer Questions 52 and 53:   

 

Τηε δενσιτψ ανδ ασσοχιατεδ χρψσταλλινιτψ φορ τωο πολψπροπψλενε σαmπλεσ αρε ασ φολλοωσ: 

 

  δενσιτψ, γ/χm3  χρψσταλλινιτψ, % 

        1.20        50 

        1.44        80 

 

Θ.52 Dενσιτψ οφ τοταλλψ αmορπηουσ πολψπροπψλενε ισ 

 

(Α) 0.64 (Β) 0.74 (Χ) 0.84 (D) 0.94 

 

Θ.53 Τηε περχεντ χρψσταλλινιτψ οφ πολψπροπψλενε σαmπλε ηαϖινγ α δενσιτψ οφ 1.3 γ/χm3 ισ 

(Α) 54 (Β) 64 (Χ) 74  (D) 84  

 

 

Statement for Linked Answer Questions 54 and 55:   

 

Αν εδγε δισλοχατιον ισ πρεσεντ ιν g−Φε.  Ατοmιχ διαmετερ οφ ιρον ατοm ισ 0.25 νm ανδ ιτσ σηεαρ mοδυλυσ ισ 

70 ΓΠα. 

 

Θ.54 Μοδυλυσ οφ τηε Βυργερσ ϖεχτορ (ιν νm) ισ 

 

(Α) 0.125 (Β) 0.25 (Χ) 0.50 (D) 0.625 

 

Θ.55 Ενεργψ (ιν ϑ/m) οφ τηε δισλοχατιον ισ 

(Α) 0.5 ⋅ 109 (Β) 1.1 ⋅ 109 (Χ) 2.2 ⋅ 109 (D) 4.4 ⋅ 109 
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General Aptitude (GA) Questions 

Q. 56 – Q. 60 carry one mark each. 

Θ.56 Α νυmβερ ισ ασ mυχη γρεατερ τηαν 75 ασ ιτ ισ σmαλλερ τηαν 117. Τηε νυmβερ ισ: 

(Α) 91 (Β)  93 (Χ)  89 (D)  96 

 

Θ.57 Τηε προφεσσορ ορδερεδ το τηε στυδεντσ το γο ουτ οφ τηε χλασσ. 

        Ι                     ΙΙ                     ΙΙΙ                         Ις 

Wηιχη οφ τηε αβοϖε υνδερλινεδ παρτσ οφ τηε σεντενχε ισ γραmmατιχαλλψ ινχορρεχτ? 

(Α) Ι (Β) ΙΙ (Χ)  ΙΙΙ (D)  Ις 

 

Θ.58 Wηιχη οφ τηε φολλοωινγ οπτιονσ ισ τηε χλοσεστ ιν mεανινγ το τηε ωορδ γιϖεν βελοω: 

 

Πριmεϖαλ 

(Α) Μοδερν (Β) Ηιστοριχ 

(Χ) Πριmιτιϖε (D) Αντιθυε  

 

Θ.59 Φριενδσηιπ, νο mαττερ ηοω _________ιτ ισ, ηασ ιτσ λιmιτατιονσ. 

(Α) χορδιαλ  

 

(Β) ιντιmατε 

 

(Χ) σεχρετ 

 

(D) πλεασαντ  

 

Θ.60 Σελεχτ τηε παιρ τηατ βεστ εξπρεσσεσ α ρελατιονσηιπ σιmιλαρ το τηατ εξπρεσσεδ ιν τηε παιρ: 

Medicine: Health  

(Α) Σχιενχε: Εξπεριmεντ (Β) Wεαλτη: Πεαχε 

(Χ) Εδυχατιον: Κνοωλεδγε (D) Μονεψ: Ηαππινεσσ 

 

Q. 61 to Q. 65 carry two marks each. 

Θ.61 Ξ ανδ Ψ αρε τωο ποσιτιϖε ρεαλ νυmβερσ συχη τηατ ʹܺ ൅ ܻ ൑ ͸ ανδ ܺ ൅ ʹܻ ൑ ͺ. Φορ ωηιχη οφ τηε 

φολλοωινγ ϖαλυεσ οφ ሺܺǡ ܻሻ τηε φυνχτιον ݂ሺܺǡ ܻሻ ൌ ͵ܺ ൅ ͸ܻ ωιλλ γιϖε mαξιmυm ϖαλυε? 

(Α) (4/3, 10/3) 

 

(Β) (8/3, 20/3) 

 

(Χ) (8/3, 10/3) 

 

(D) (4/3, 20/3) 

 

Θ.62 Ιφ ȁͶܺ െ ͹ȁ ൌ ͷ τηεν τηε ϖαλυεσ οφ ʹ ȁܺȁ െ ȁ െ ܺȁ ισ: 

(Α)  2, 1/3 (Β) 1/2, 3 (Χ)  3/2, 9 (D)  2/3, 9 
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Θ.63 Φολλοωινγ ταβλε προϖιδεσ φιγυρεσ (ιν ρυπεεσ) ον αννυαλ εξπενδιτυρε οφ α φιρm φορ τωο ψεαρσ − 2010 

ανδ 2011.  

 

Category 2010 2011 

Raw material 5200 6240 

Power & fuel 7000 9450 

Salary & wages 9000 12600 

Plant & machinery 20000 25000 

Advertising 15000 19500 

Research & Development 22000 26400 

 

Ιν 2011, ωηιχη οφ τηε φολλοωινγ τωο χατεγοριεσ ηαϖε ρεγιστερεδ ινχρεασε βψ σαmε περχενταγε?   

(Α) Ραω mατεριαλ ανδ Σαλαρψ & ωαγεσ  

 

(Β)  Σαλαρψ & ωαγεσ ανδ Αδϖερτισινγ 

 

(Χ) Ποωερ & φυελ ανδ Αδϖερτισινγ 

 

(D) Ραω mατεριαλ ανδ Ρεσεαρχη & Dεϖελοπmεντ  

 

Θ.64 Α φιρm ισ σελλινγ ιτσ προδυχτ ατ Ρσ. 60 περ υνιτ. Τηε τοταλ χοστ οφ προδυχτιον ισ Ρσ. 100 ανδ φιρm ισ 

εαρνινγ τοταλ προφιτ οφ Ρσ. 500. Λατερ, τηε τοταλ χοστ ινχρεασεδ βψ 30%. Βψ ωηατ περχενταγε τηε πριχε 

σηουλδ βε ινχρεασεδ το mαινταινεδ τηε σαmε προφιτ λεϖελ.  

(Α) 5 (Β) 10 (Χ)  15 (D)  30 

 

Θ.65 Αβηισηεκ ισ ελδερ το Σαϖαρ. 

Σαϖαρ ισ ψουνγερ το Ανσηυλ. 

 

Wηιχη οφ τηε γιϖεν χονχλυσιονσ ισ λογιχαλλψ ϖαλιδ ανδ ισ ινφερρεδ φροm τηε αβοϖε 

στατεmεντσ?   
  

(Α) Αβηισηεκ ισ ελδερ το Ανσηυλ 

 

(Β) Ανσηυλ ισ ελδερ το Αβηισηεκ 

 

(Χ) Αβηισηεκ ανδ Ανσηυλ αρε οφ τηε σαmε αγε 

 

(D) Νο χονχλυσιον φολλοωσ 

 
 

END OF THE QUESTION PAPER 
 


